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번호 정답

1 3

2 5

3 3

4 3

5 5

6 4

7 2

8 1

9 2

10 1

11 4

12 1

13 4

14 5

15 3

16 2

번호 정답

서1 

서2 

서3

      이고    이
므로    이다.  ,            이 므 로      ∴        

서4

두 정사각형의 넓이의 비가   이므로ACBC   이다.   BC    BC      
∴BC     
두 정사각형의 넓이의 합은               

서5

   A로 두면



 A  A  

 A  A  

     이다.

따라서 가 소

수가 

되게 하려면     이므로

 의 값은 이다.

자연수 에 대해    가 되는 

순서쌍 는
       

        이다.


